

Bill to:
Will Coyote
Attn Will Coyote
Principal
0923 Cactus Rd
Santa Fe, NM 87505

Remit to: **Frosty Engineers LLP** 330 Woodlan Ave Kalispell, MT 59901 Direct questions to: **Jack Reed** (406) 555-3679 jack@frostyengineers.com

Professional services for the period <u>January 1</u> through <u>January 31, 2024</u>

Reference No.	Project	\$ Amount
	2A Special Projects	\$15,245.00
	Environment and Weather Modification	\$17,205.00
	Propulsion	\$38,100.00
	Tunnels	\$10,590.00
ACME-2A12	Dynamite/TNT	\$19,040.00
ACME-P30	Giant Kite	\$6,865.00
ACME-R5	Giant Coyote Robot	\$19,880.00
ACME-W16	Wearables	\$18,490.00
	Invoice Total (please pay this amount)	\$145,415.00

2A Special Projects

Reference No.	Project	\$ Amount
ACME-2A19	Telescoping Rifle	\$3,840.00
ACME-2A23	Harpoon Gun	\$3,785.00
ACME-2A26	Rifled Telescope	\$2,570.00
ACME-2A9	Disintegrator Gun	\$5,050.00
	Total	\$15,245.00

ACME-2A19 Telescoping Rifle

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/12	6	\$185.00	\$1,110.00
Chevy Armstrong	Quality Control Manager	1/5	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/26	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/12	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/5	4	\$105.00	\$420.00
Peter Chase	Associate Electrical Engineer	1/19	6	\$105.00	\$630.00
Peter Chase	Associate Electrical Engineer	1/26	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	2	\$135.00	\$270.00
Henry Gray	Associate Mechanical Engineer	1/31	5	\$105.00	\$525.00
Ethan Lawson	Drafting Technician	1/5	1	\$95.00	\$95.00
		Labor	30		\$3,840.00

ACME-2A23 Harpoon Gun

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/26	8	\$185.00	\$1,480.00
Chevy Armstrong	Quality Control Manager	1/19	2	\$135.00	\$270.00
Peter Chase	Associate Electrical Engineer	1/19	2	\$105.00	\$210.00
Peter Chase	Associate Electrical Engineer	1/26	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	2	\$135.00	\$270.00
U Donaldson	Electrical Engineer	1/31	2	\$135.00	\$270.00
Henry Gray	Associate Mechanical Engineer	1/5	4	\$105.00	\$420.00
Ethan Lawson	Drafting Technician	1/5	8	\$95.00	\$760.00
		Labor	29		\$3,785.00

ACME-2A26 Rifled Telescope

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/19	2	\$185.00	\$370.00
Chevy Armstrong	Quality Control Manager	1/31	1	\$135.00	\$135.00
Samuel Carter	Senior Mechanical Engineer	1/5	7	\$145.00	\$1,015.00
Peter Chase	Associate Electrical Engineer	1/12	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/5	3	\$105.00	\$315.00
Henry Gray	Associate Mechanical Engineer	1/12	3	\$105.00	\$315.00
Henry Gray	Associate Mechanical Engineer	1/19	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/26	2	\$105.00	\$210.00
		Labor	20		\$2,570.00

ACME-2A9 Disintegrator Gun

Employee	Title	Week	Hours	Rate	Total
Chevy Armstrong	Quality Control Manager	1/19	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/26	2	\$135.00	\$270.00
Chevy Armstrong	Quality Control Manager	1/31	1	\$135.00	\$135.00
Samuel Carter	Senior Mechanical Engineer	1/5	13	\$145.00	\$1,885.00
Samuel Carter	Senior Mechanical Engineer	1/19	7	\$145.00	\$1,015.00
U Donaldson	Electrical Engineer	1/12	2	\$135.00	\$270.00
U Donaldson	Electrical Engineer	1/19	5	\$135.00	\$675.00
Ethan Lawson	Drafting Technician	1/12	6	\$95.00	\$570.00
Ethan Lawson	Drafting Technician	1/26	1	\$95.00	\$95.00
		Labor	38		\$5,050.00

Environment and Weather Modification

Reference No.	Project	\$ Amount
ACME-WX18	Dedydrated Boulders	\$7,575.00
ACME-WX2	Do-It-Yourself Tornado Kit	\$4,535.00
ACME-WX21	Earthquake Pills	\$5,095.00
	Total	\$17,205.00

ACME-WX18 Dedydrated Boulders

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	3	\$185.00	\$555.00
Marvin Acme	Owner	1/12	6	\$185.00	\$1,110.00
Marvin Acme	Owner	1/19	4	\$185.00	\$740.00
Marvin Acme	Owner	1/26	8	\$185.00	\$1,480.00
Peter Chase	Associate Electrical Engineer	1/5	1	\$105.00	\$105.00
Peter Chase	Associate Electrical Engineer	1/12	4	\$105.00	\$420.00
Peter Chase	Associate Electrical Engineer	1/19	4	\$105.00	\$420.00
U Donaldson	Electrical Engineer	1/19	1	\$135.00	\$135.00
Henry Gray	Associate Mechanical Engineer	1/5	7	\$105.00	\$735.00
Henry Gray	Associate Mechanical Engineer	1/26	7	\$105.00	\$735.00
Ethan Lawson	Drafting Technician	1/5	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/26	8	\$95.00	\$760.00
Ethan Lawson	Drafting Technician	1/31	2	\$95.00	\$190.00
		Labor	57		\$7,575.00

ACME-WX2 Do-It-Yourself Tornado Kit

Employee	Title	Week	Hours	Rate	Total
Chevy Armstrong	Quality Control Manager	1/12	7	\$135.00	\$945.00
Chevy Armstrong	Quality Control Manager	1/31	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/19	5	\$145.00	\$725.00
Samuel Carter	Senior Mechanical Engineer	1/31	2	\$145.00	\$290.00
Peter Chase	Associate Electrical Engineer	1/5	6	\$105.00	\$630.00
Peter Chase	Associate Electrical Engineer	1/31	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/26	4	\$135.00	\$540.00
Henry Gray	Associate Mechanical Engineer	1/12	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/26	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	2	\$105.00	\$210.00
Ethan Lawson	Drafting Technician	1/12	5	\$95.00	\$475.00
		Labor	37		\$4,535.00

ACME-WX21 Earthquake Pills

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	3	\$185.00	\$555.00
Marvin Acme	Owner	1/12	12	\$185.00	\$2,220.00
Marvin Acme	Owner	1/26	3	\$185.00	\$555.00
Samuel Carter	Senior Mechanical Engineer	1/31	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/19	2	\$105.00	\$210.00
Peter Chase	Associate Electrical Engineer	1/26	5	\$105.00	\$525.00
U Donaldson	Electrical Engineer	1/26	5	\$135.00	\$675.00
Henry Gray	Associate Mechanical Engineer	1/12	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	1	\$105.00	\$105.00
		Labor	33		\$5,095.00

Propulsion

Reference No.	Project	\$ Amount
ACME-P1	Rocket Powered Sled	\$4,375.00
ACME-P10	Hot Air Balloon	\$13,825.00
ACME-P14	Jet Propelled Unicycle	\$3,535.00
ACME-P25	Rocket Powered Rollerskates	\$4,135.00
ACME-P29	Portal Device	\$6,060.00
ACME-P3	Giant Magnet	\$3,565.00
ACME-P4	Snow and Ski Machine	\$2,605.00
	Total	\$38,100.00

ACME-P1 Rocket Powered Sled

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	1	\$185.00	\$185.00
Marvin Acme	Owner	1/26	4	\$185.00	\$740.00
Samuel Carter	Senior Mechanical Engineer	1/19	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/26	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/31	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/12	5	\$105.00	\$525.00
U Donaldson	Electrical Engineer	1/26	13	\$135.00	\$1,755.00
Henry Gray	Associate Mechanical Engineer	1/19	7	\$105.00	\$735.00
		Labor	33		\$4,375.00

ACME-P10 Hot Air Balloon

Reference No.	Project	\$ Amount
ACME-P10	Hot Air Balloon	\$6,710.00
ACME-P11	anvil release mechanism	\$7,115.00
	Total	\$13,825.00

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/31	4	\$185.00	\$740.00
Chevy Armstrong	Quality Control Manager	1/5	2	\$135.00	\$270.00
Chevy Armstrong	Quality Control Manager	1/12	5	\$135.00	\$675.00
Samuel Carter	Senior Mechanical Engineer	1/26	8	\$145.00	\$1,160.00
Peter Chase	Associate Electrical Engineer	1/19	2	\$105.00	\$210.00
U Donaldson	Electrical Engineer	1/12	8	\$135.00	\$1,080.00
U Donaldson	Electrical Engineer	1/19	7	\$135.00	\$945.00
U Donaldson	Electrical Engineer	1/26	2	\$135.00	\$270.00
Henry Gray	Associate Mechanical Engineer	1/5	2	\$105.00	\$210.00
Henry Gray	Associate Mechanical Engineer	1/31	1	\$105.00	\$105.00
Ethan Lawson	Drafting Technician	1/19	2	\$95.00	\$190.00
Ethan Lawson	Drafting Technician	1/26	9	\$95.00	\$855.00
		Labor	52		\$6,710.00

ACME-P11 anvil release mechanism

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	2	\$185.00	\$370.00
Marvin Acme	Owner	1/19	2	\$185.00	\$370.00
Marvin Acme	Owner	1/26	2	\$185.00	\$370.00
Marvin Acme	Owner	1/31	3	\$185.00	\$555.00
Chevy Armstrong	Quality Control Manager	1/12	9	\$135.00	\$1,215.00
Samuel Carter	Senior Mechanical Engineer	1/12	8	\$145.00	\$1,160.00
Peter Chase	Associate Electrical Engineer	1/5	3	\$105.00	\$315.00
Peter Chase	Associate Electrical Engineer	1/12	5	\$105.00	\$525.00
Peter Chase	Associate Electrical Engineer	1/19	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	4	\$135.00	\$540.00
U Donaldson	Electrical Engineer	1/19	3	\$135.00	\$405.00
U Donaldson	Electrical Engineer	1/26	3	\$135.00	\$405.00
Henry Gray	Associate Mechanical Engineer	1/5	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/26	1	\$105.00	\$105.00
Ethan Lawson	Drafting Technician	1/5	6	\$95.00	\$570.00
		Labor	53		\$7,115.00

ACME-P14 Jet Propelled Unicycle

Employee	Title	Week	Hours	Rate	Total
Chevy Armstrong	Quality Control Manager	1/5	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/12	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/19	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/12	3	\$105.00	\$315.00
U Donaldson	Electrical Engineer	1/26	6	\$135.00	\$810.00
Henry Gray	Associate Mechanical Engineer	1/5	7	\$105.00	\$735.00
Henry Gray	Associate Mechanical Engineer	1/12	3	\$105.00	\$315.00
Ethan Lawson	Drafting Technician	1/5	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/12	4	\$95.00	\$380.00
Ethan Lawson	Drafting Technician	1/31	2	\$95.00	\$190.00
		Labor	31		\$3,535.00

ACME-P25 Rocket Powered Rollerskates

Employee	Title	Week	Hours	Rate	Total
Peter Chase	Associate Electrical Engineer	1/5	2	\$105.00	\$210.00
Peter Chase	Associate Electrical Engineer	1/19	2	\$105.00	\$210.00
Peter Chase	Associate Electrical Engineer	1/26	7	\$105.00	\$735.00
U Donaldson	Electrical Engineer	1/5	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/19	4	\$135.00	\$540.00
U Donaldson	Electrical Engineer	1/31	6	\$135.00	\$810.00
Henry Gray	Associate Mechanical Engineer	1/12	7	\$105.00	\$735.00
Ethan Lawson	Drafting Technician	1/12	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/26	5	\$95.00	\$475.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	37		\$4,135.00

ACME-P29 Portal Device

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	1	\$185.00	\$185.00
Marvin Acme	Owner	1/12	6	\$185.00	\$1,110.00
Chevy Armstrong	Quality Control Manager	1/12	4	\$135.00	\$540.00
Chevy Armstrong	Quality Control Manager	1/26	2	\$135.00	\$270.00
Chevy Armstrong	Quality Control Manager	1/31	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/26	7	\$145.00	\$1,015.00
Peter Chase	Associate Electrical Engineer	1/12	1	\$105.00	\$105.00
Peter Chase	Associate Electrical Engineer	1/26	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	7	\$135.00	\$945.00
Henry Gray	Associate Mechanical Engineer	1/12	5	\$105.00	\$525.00
Ethan Lawson	Drafting Technician	1/5	9	\$95.00	\$855.00
		Labor	46		\$6,060.00

ACME-P3 Giant Magnet

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/12	8	\$185.00	\$1,480.00
Chevy Armstrong	Quality Control Manager	1/5	1	\$135.00	\$135.00
Peter Chase	Associate Electrical Engineer	1/31	5	\$105.00	\$525.00
U Donaldson	Electrical Engineer	1/31	3	\$135.00	\$405.00
Henry Gray	Associate Mechanical Engineer	1/12	2	\$105.00	\$210.00
Henry Gray	Associate Mechanical Engineer	1/26	5	\$105.00	\$525.00
Ethan Lawson	Drafting Technician	1/12	2	\$95.00	\$190.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
		Labor	27		\$3,565.00

ACME-P4 Snow and Ski Machine

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/31	2	\$185.00	\$370.00
Samuel Carter	Senior Mechanical Engineer	1/12	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/19	3	\$145.00	\$435.00
Samuel Carter	Senior Mechanical Engineer	1/26	5	\$145.00	\$725.00
Peter Chase	Associate Electrical Engineer	1/12	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/12	2	\$135.00	\$270.00
Henry Gray	Associate Mechanical Engineer	1/12	2	\$105.00	\$210.00
Henry Gray	Associate Mechanical Engineer	1/19	2	\$105.00	\$210.00
		Labor	19		\$2,605.00

Tunnels

Reference No.	Project	\$ Amount
ACME-T22	Wall #465 Tunnel Art	\$4,920.00
ACME-T31	Stable Diffusion Nano-Paint	\$5,670.00
	Total	\$10,590.00

ACME-T22 Wall #465 Tunnel Art

Employee	Title	Week	Hours	Rate	Total
Samuel Carter	Senior Mechanical Engineer	1/19	5	\$145.00	\$725.00
Samuel Carter	Senior Mechanical Engineer	1/26	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/12	9	\$105.00	\$945.00
U Donaldson	Electrical Engineer	1/12	11	\$135.00	\$1,485.00
Henry Gray	Associate Mechanical Engineer	1/19	8	\$105.00	\$840.00
Henry Gray	Associate Mechanical Engineer	1/26	2	\$105.00	\$210.00
Ethan Lawson	Drafting Technician	1/26	4	\$95.00	\$380.00
Ethan Lawson	Drafting Technician	1/31	2	\$95.00	\$190.00
		Labor	42		\$4,920.00

ACME-T31 Stable Diffusion Nano-Paint

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	1	\$185.00	\$185.00
Chevy Armstrong	Quality Control Manager	1/5	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/19	8	\$135.00	\$1,080.00
Chevy Armstrong	Quality Control Manager	1/26	5	\$135.00	\$675.00
Samuel Carter	Senior Mechanical Engineer	1/31	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/19	7	\$105.00	\$735.00
Peter Chase	Associate Electrical Engineer	1/26	7	\$105.00	\$735.00
Peter Chase	Associate Electrical Engineer	1/31	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/12	5	\$135.00	\$675.00
Henry Gray	Associate Mechanical Engineer	1/12	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	5	\$105.00	\$525.00
Ethan Lawson	Drafting Technician	1/31	6	\$95.00	\$570.00
		Labor	48		\$5,670.00

ACME-2A12 Dynamite/TNT

Reference No.	Project	\$ Amount
ACME-D13	Exploding Tennis Balls	\$4,275.00
ACME-D15	Bomb Slingshot	\$8,140.00
ACME-D24	Missile Launch System	\$1,745.00
ACME-D27	Water Fountain Detonator	\$4,880.00
	Total	\$19,040.00

ACME-D13 Exploding Tennis Balls

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	6	\$185.00	\$1,110.00
Chevy Armstrong	Quality Control Manager	1/5	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/12	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/19	3	\$135.00	\$405.00
Chevy Armstrong	Quality Control Manager	1/31	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/12	2	\$145.00	\$290.00
Samuel Carter	Senior Mechanical Engineer	1/31	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/31	6	\$105.00	\$630.00
U Donaldson	Electrical Engineer	1/31	1	\$135.00	\$135.00
Henry Gray	Associate Mechanical Engineer	1/19	3	\$105.00	\$315.00
Ethan Lawson	Drafting Technician	1/12	3	\$95.00	\$285.00
Ethan Lawson	Drafting Technician	1/26	3	\$95.00	\$285.00
		Labor	33		\$4,275.00

ACME-D15 Bomb Slingshot

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	2	\$185.00	\$370.00
Marvin Acme	Owner	1/12	1	\$185.00	\$185.00
Marvin Acme	Owner	1/19	7	\$185.00	\$1,295.00
Chevy Armstrong	Quality Control Manager	1/5	3	\$135.00	\$405.00
Chevy Armstrong	Quality Control Manager	1/12	3	\$135.00	\$405.00
Chevy Armstrong	Quality Control Manager	1/26	4	\$135.00	\$540.00
Samuel Carter	Senior Mechanical Engineer	1/12	4	\$145.00	\$580.00
Samuel Carter	Senior Mechanical Engineer	1/19	5	\$145.00	\$725.00
Peter Chase	Associate Electrical Engineer	1/31	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/12	3	\$135.00	\$405.00
U Donaldson	Electrical Engineer	1/19	8	\$135.00	\$1,080.00
U Donaldson	Electrical Engineer	1/31	6	\$135.00	\$810.00
Ethan Lawson	Drafting Technician	1/5	6	\$95.00	\$570.00
Ethan Lawson	Drafting Technician	1/19	7	\$95.00	\$665.00
		Labor	60		\$8,140.00

ACME-D24 Missile Launch System

Employee	Title	Week	Hours	Rate	Total
Chevy Armstrong	Quality Control Manager	1/5	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/26	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/12	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/19	2	\$145.00	\$290.00
U Donaldson	Electrical Engineer	1/12	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/19	4	\$135.00	\$540.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	13		\$1,745.00

ACME-D27 Water Fountain Detonator

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/19	1	\$185.00	\$185.00
Marvin Acme	Owner	1/26	5	\$185.00	\$925.00
Chevy Armstrong	Quality Control Manager	1/19	2	\$135.00	\$270.00
Chevy Armstrong	Quality Control Manager	1/26	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/31	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/5	2	\$145.00	\$290.00
Peter Chase	Associate Electrical Engineer	1/31	4	\$105.00	\$420.00
U Donaldson	Electrical Engineer	1/12	4	\$135.00	\$540.00
U Donaldson	Electrical Engineer	1/19	3	\$135.00	\$405.00
U Donaldson	Electrical Engineer	1/26	1	\$135.00	\$135.00
Henry Gray	Associate Mechanical Engineer	1/26	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	2	\$105.00	\$210.00
Ethan Lawson	Drafting Technician	1/12	2	\$95.00	\$190.00
Ethan Lawson	Drafting Technician	1/19	7	\$95.00	\$665.00
		Labor	38		\$4,880.00

ACME-P30 Giant Kite

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/19	6	\$185.00	\$1,110.00
Chevy Armstrong	Quality Control Manager	1/5	3	\$135.00	\$405.00
Chevy Armstrong	Quality Control Manager	1/12	6	\$135.00	\$810.00
Samuel Carter	Senior Mechanical Engineer	1/5	2	\$145.00	\$290.00
Samuel Carter	Senior Mechanical Engineer	1/19	2	\$145.00	\$290.00
Samuel Carter	Senior Mechanical Engineer	1/26	2	\$145.00	\$290.00
Samuel Carter	Senior Mechanical Engineer	1/31	7	\$145.00	\$1,015.00
Peter Chase	Associate Electrical Engineer	1/12	1	\$105.00	\$105.00
Peter Chase	Associate Electrical Engineer	1/19	2	\$105.00	\$210.00
Henry Gray	Associate Mechanical Engineer	1/12	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	5	\$105.00	\$525.00
Ethan Lawson	Drafting Technician	1/12	4	\$95.00	\$380.00
Ethan Lawson	Drafting Technician	1/19	12	\$95.00	\$1,140.00
Ethan Lawson	Drafting Technician	1/26	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	55		\$6,865.00

ACME-R5 Giant Coyote Robot

Reference No.	Project	\$ Amount
ACME-R5	Giant Coyote Robot	\$4,335.00
ACME-R6-1	Body, Pneumatics and Servos	\$6,105.00
ACME-R7-2	Communications Package	\$4,100.00
ACME-R8-3	Navigation Package	\$5,340.00
	Total	\$19,880.00

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/12	1	\$185.00	\$185.00
Chevy Armstrong	Quality Control Manager	1/12	3	\$135.00	\$405.00
Samuel Carter	Senior Mechanical Engineer	1/31	6	\$145.00	\$870.00
Peter Chase	Associate Electrical Engineer	1/5	8	\$105.00	\$840.00
Peter Chase	Associate Electrical Engineer	1/31	3	\$105.00	\$315.00
U Donaldson	Electrical Engineer	1/5	3	\$135.00	\$405.00
Henry Gray	Associate Mechanical Engineer	1/19	8	\$105.00	\$840.00
Ethan Lawson	Drafting Technician	1/12	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/31	3	\$95.00	\$285.00
		Labor	37		\$4,335.00

ACME-R6-1 Body, Pneumatics and Servos

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	4	\$185.00	\$740.00
Marvin Acme	Owner	1/26	1	\$185.00	\$185.00
Chevy Armstrong	Quality Control Manager	1/5	4	\$135.00	\$540.00
Chevy Armstrong	Quality Control Manager	1/26	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/31	1	\$135.00	\$135.00
Samuel Carter	Senior Mechanical Engineer	1/5	5	\$145.00	\$725.00
Peter Chase	Associate Electrical Engineer	1/12	2	\$105.00	\$210.00
U Donaldson	Electrical Engineer	1/19	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/26	1	\$135.00	\$135.00
Henry Gray	Associate Mechanical Engineer	1/5	2	\$105.00	\$210.00
Henry Gray	Associate Mechanical Engineer	1/12	10	\$105.00	\$1,050.00
Henry Gray	Associate Mechanical Engineer	1/26	8	\$105.00	\$840.00
Henry Gray	Associate Mechanical Engineer	1/31	2	\$105.00	\$210.00
Ethan Lawson	Drafting Technician	1/12	5	\$95.00	\$475.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/31	3	\$95.00	\$285.00
		Labor	51		\$6,105.00

ACME-R7-2 Communications Package

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/26	4	\$185.00	\$740.00
Chevy Armstrong	Quality Control Manager	1/5	5	\$135.00	\$675.00
Chevy Armstrong	Quality Control Manager	1/19	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/26	2	\$135.00	\$270.00
Samuel Carter	Senior Mechanical Engineer	1/12	8	\$145.00	\$1,160.00
Samuel Carter	Senior Mechanical Engineer	1/31	2	\$145.00	\$290.00
Peter Chase	Associate Electrical Engineer	1/5	3	\$105.00	\$315.00
Peter Chase	Associate Electrical Engineer	1/26	1	\$105.00	\$105.00
Peter Chase	Associate Electrical Engineer	1/31	3	\$105.00	\$315.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
		Labor	30		\$4,100.00

ACME-R8-3 Navigation Package

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/31	3	\$185.00	\$555.00
Chevy Armstrong	Quality Control Manager	1/19	8	\$135.00	\$1,080.00
Chevy Armstrong	Quality Control Manager	1/31	5	\$135.00	\$675.00
Samuel Carter	Senior Mechanical Engineer	1/26	7	\$145.00	\$1,015.00
Peter Chase	Associate Electrical Engineer	1/26	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	5	\$135.00	\$675.00
U Donaldson	Electrical Engineer	1/26	3	\$135.00	\$405.00
Henry Gray	Associate Mechanical Engineer	1/19	3	\$105.00	\$315.00
Henry Gray	Associate Mechanical Engineer	1/26	4	\$105.00	\$420.00
Ethan Lawson	Drafting Technician	1/26	1	\$95.00	\$95.00
		Labor	40		\$5,340.00

ACME-W16 Wearables

Reference No.	Project	\$ Amount
ACME-W17	Road Runner Suit Level 2 Disguise	\$7,010.00
ACME-W20	Super Outfit	\$4,445.00
ACME-W28	Flying Bat Suit	\$7,035.00
	Total	\$18,490.00

ACME-W17 Road Runner Suit Level 2 Disguise

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/19	3	\$185.00	\$555.00
Marvin Acme	Owner	1/31	5	\$185.00	\$925.00
Chevy Armstrong	Quality Control Manager	1/5	7	\$135.00	\$945.00
Samuel Carter	Senior Mechanical Engineer	1/12	7	\$145.00	\$1,015.00
Samuel Carter	Senior Mechanical Engineer	1/19	3	\$145.00	\$435.00
Samuel Carter	Senior Mechanical Engineer	1/31	3	\$145.00	\$435.00
Peter Chase	Associate Electrical Engineer	1/5	2	\$105.00	\$210.00
Peter Chase	Associate Electrical Engineer	1/12	7	\$105.00	\$735.00
Peter Chase	Associate Electrical Engineer	1/19	1	\$105.00	\$105.00
U Donaldson	Electrical Engineer	1/5	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/12	3	\$135.00	\$405.00
U Donaldson	Electrical Engineer	1/31	4	\$135.00	\$540.00
Ethan Lawson	Drafting Technician	1/12	4	\$95.00	\$380.00
Ethan Lawson	Drafting Technician	1/19	1	\$95.00	\$95.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	52		\$7,010.00

ACME-W20 Super Outfit

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/31	6	\$185.00	\$1,110.00
Chevy Armstrong	Quality Control Manager	1/12	1	\$135.00	\$135.00
Chevy Armstrong	Quality Control Manager	1/19	2	\$135.00	\$270.00
Chevy Armstrong	Quality Control Manager	1/26	8	\$135.00	\$1,080.00
Samuel Carter	Senior Mechanical Engineer	1/5	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/12	1	\$145.00	\$145.00
Samuel Carter	Senior Mechanical Engineer	1/26	1	\$145.00	\$145.00
Peter Chase	Associate Electrical Engineer	1/19	4	\$105.00	\$420.00
U Donaldson	Electrical Engineer	1/31	2	\$135.00	\$270.00
Henry Gray	Associate Mechanical Engineer	1/5	4	\$105.00	\$420.00
Henry Gray	Associate Mechanical Engineer	1/26	1	\$105.00	\$105.00
Henry Gray	Associate Mechanical Engineer	1/31	1	\$105.00	\$105.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	33		\$4,445.00

ACME-W28 Flying Bat Suit

Employee	Title	Week	Hours	Rate	Total
Marvin Acme	Owner	1/5	1	\$185.00	\$185.00
Marvin Acme	Owner	1/19	2	\$185.00	\$370.00
Marvin Acme	Owner	1/26	5	\$185.00	\$925.00
Marvin Acme	Owner	1/31	1	\$185.00	\$185.00
Chevy Armstrong	Quality Control Manager	1/26	6	\$135.00	\$810.00
Chevy Armstrong	Quality Control Manager	1/31	4	\$135.00	\$540.00
Samuel Carter	Senior Mechanical Engineer	1/12	2	\$145.00	\$290.00
Samuel Carter	Senior Mechanical Engineer	1/19	5	\$145.00	\$725.00
Peter Chase	Associate Electrical Engineer	1/26	8	\$105.00	\$840.00
U Donaldson	Electrical Engineer	1/5	2	\$135.00	\$270.00
U Donaldson	Electrical Engineer	1/12	1	\$135.00	\$135.00
U Donaldson	Electrical Engineer	1/19	4	\$135.00	\$540.00
Henry Gray	Associate Mechanical Engineer	1/19	8	\$105.00	\$840.00
Ethan Lawson	Drafting Technician	1/12	3	\$95.00	\$285.00
Ethan Lawson	Drafting Technician	1/31	1	\$95.00	\$95.00
		Labor	53		\$7,035.00